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#iNo. 172 BF 50m EkE FE TH SR NGE 26.02
_ CcS _ Ey 5 26.99
IEGL #B/7k f0 B K 4 e 5 P FOER (RT.)

1 74K % m5IN— XHETS S 01 =2 26.98 X% ( 0.65)
2 5/5 8 B INEEXER /Ny E—BRE 00 =3 27.47 ( 0.61)
3 6/4 F 51 RBEZAER FEtS S 01 =3 27.60 (0.62)
4 6/5 R H £k HIE HESC /BEIG 01 =3 27.65 ( 0.64)
5 5/ 6 #E)Il lLE £H£A NECGSCEJII /HRFFEE 01 &2 27.66 ( 0.60)
6 5/1 ®H W KE #X BXZL 01 =2 27.69 ( 0.55)
7153 %K W B8R HKE - EtEDE 02 =2 27.76 ( 0.64)
8 5/4 K E BEE & 1FOS s 00 =3 27.82 ( 0.63)
9 7/71T% F=t & RES 00 =3 27.93 ( 0.64)
10 4/6 B R &H KA TOSIMB/I/I\EFER 02 &2 28.04 ( 0.65)
11 6/3 B =R FE &% ZESC 00 =3 28.06 ( 0.62)
12 7728 REHE K £HETS C 00 =3 28.08 ( 0.59)
13 7/3 K R ED X 4 b UIIR 00 =3 28.19 (0.64)
13 7/78 & W xMA &} Il & SSFE/IN R 03 3 28.19 ( 0.64)
15 4/ 8 B %1 # 1 F 25 /#%5 & SS 02 &l 28.20 ( 0.58)
16 7/76 = # #F  Eih REEKE /EESNKAES 00 53 28.23 ( 0.6b)
17 6/8 % & UK EE W HBEEII 02 =i 28.36 (0.70)
17 7/ 5 #Z) BB AKER OCEAN 01 =2 28.36 ( 0.70)
19 3/8 & E £H {(h# i ERS 01 =3 28.37 (0.71)
20 4/ 3 F ¥ EKE FE UMV TFE 03 &l 28.41 ( 0.63)
21 7/1 & = #A B=E HESC 00 =3 28.56 ( 0.62)
22 5/2 K W 4B RBF BXZWL 02 &1 28.64 ( 0.59)
23 6/ 6 IF E kB EH A4 RE/HEEEFER 01 52 28.66 (0.64)
24 3/ 4 @EJ MR EE HESS 02 =i 28.70 (0.69)
25 2/ 6 B Bk Ak K3 WS AR BT 03 o3 28.71 ( 0.65)
26 6/ 7 & & kH*H WX LEES /JsSsHIl 01 =2 28.76 ( 0.61)
27 4/ 7 ® W +XFhiE SWIFT 00 =3 28.83 ( 0.61)
28 6/1 K PR #E K#H #uh4ST 00 =3 28.84 ( 0.61)
29 4/ 1 K Br KB #1E )—XAC 00 =3 28.89 ( 0.56)
29 5/ 7 #FE)Il BE @k HMEIAM /HBEWMEER 02 S 28.89 ( 0.68)
31 3/5 & 41 M MS Z2HES /2HSS 02 =i 28.91 ( 0.63)
32 2/2 F E A B VYU AEE R 00 =3 28.95 ( 0.65)
3B 44 H B FH m—- REAEESK 01 =3 29.04 ( 0.65)
34 2/3 & [E L =i JSS=K 02 &2 29.10 ( 0.62)
34 2/ 7 B M BE BA FEtS S 01 &2 29.10 ( 0.6b)
36 1/ 3 #FEl FkKk BR#FH INVEEE /=@¥ies 01 =3 29.20 ( 0.61)
37 5/ 8 K Br #EiRRAER HO S /iR 00 =3 29.21 ( 0.70)
38 3/6 1k B BRE #HHK EEEESK 01 =2 29.22 ( 0.60)
39 2/ 4 M W =N KF BRESC 01 &3 29.23 ( 0.69)
40 3/ 1 & M XxH#F = PRERATPEES/MBEHSC 01 &2 29.29 ( 0.62)
41 1/5 10 B \E  FE A AfiizZE 01 =3 29.36 ( 0.66)
42 2/ 1 ®’ R k% Gt =ZBMSS 04 2 29.37 ( 0.60)
43 3/ 3 ML FR HE BEERK 00 =3 29.44 (0.57)
4 4/5 = #B 2L Mo agvALLFL 03 3 29.47 (0.71)
45 3/ 7 & H Fh ®|E AV %)= 01 &2 29.48 (0.63)
46 1/4 = ¥ Hu E#H S AER 01 =3 29.51 ( 0.64)
47 4/ 2 X R mEfg S HELL =R 01 &2 29.59 ( 0.60)
48 2/5 F 4t E FEtS S /BINE 00 =3 29.66 ( 0.60)
49 3/ 2 wmE) /N Ha DIFY LSC/BHKRBAAE 00 =3 29.85 ( 0.67)

6/2 8 [ E it K S GHII 00 &3 E 33

SEIKO Page. 1/1 Printing: 2019/03/29 13:14:44



